LABJNDu9-Dreieckshelligkeit T*
T* YocmL*w - nc=100,

T*L aBaNDu9 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T#(3,6)=348.T* ,(18)=791,T*(90)=1231

1og[T*/T* =

0,42
7 Agn oqo

ln i
= Anwendungs-|
T*3, 6—347 89'!* 7 ﬂ. ,01 Y= Bereien ¢}

7- =18
AN=36 1Yy=90

LABJINDu9
Normfarbwertdifferenz
Yoc=L*w - nc=100,

T*LaBaNDu9 =[IN[A 10+ A2 /(A 20A )] (Yn/100<Y<=Yyo)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon =10, siehe CIE 230:2019

0Y;=0,35, Ay=1,500, G=0,42

dY;=0,09, A =0, 017 Agn 0,0024

dY3,6:0x03 Y,=18, dY;=0,09

AY

T*,=791, dY,=0,09 dY,/Y,=0,055%
o0

1 Anwendungs-

= 1 bereich
1Y,=18

log AY/Y)

Yw=90

LABJINDu9
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az YY

(dY/Y=0,0039, Ay=1
(dY/Y)=0,0050, A =0 ,AZ 0, 00024
(dY/Y},=0,0107 Y, 13 dY=0,09

Anwendungs-

bereich
=~

=18

log (Y/AY)

YN=3.6  Yyw=90

LABJINDu9

- Normfarbwertkontrast
G Yoc=L*w - nc=100,

T*LaBINDU9 =[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]
(Y/dY}=253,97, Ay=1,500, ¢=0,42

(Y/dY)g=197,21, A=0,017, A,=0,0024
(YIdY} =93 13 218, dy=0.09

T*,=791, dY,=0,09 Y,/dY,=197
log(Y/dY)-2,29 m;=0,26 =~
p

-
P

Anwendungs-|
bereich

1
\Y,=18

V=90

THT*, LABJINDuO relative Dreieckshelligkeit T*/T*

THT* YocmL*w - nc=100,

T*LagaNDu9 =[IN[A 17+A2nY)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#(3,6)=348,T* ,(18)=791 T*,(90)=1231

T*ogT*y=155, Ay=1,500, ¢=0,42
T*, 20,017, A= o 0024
T g TA=0,43 TX=791,01 Y1

log[T*/T*,]=0, m,=0,33

L* =49, T*,=791
1 Anwendungs-|
1 bereich

1Y,=18

Iog(AY/AY )

N=36 V=90

LABJNDuS9 relative
Normfarbwertdifferenz
Yoe=L*w ~ ne=100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIDY,=Ag A +AgYI/AY,

dYe(/dY,=3,88, Ay=1,500, ¢=0,4
Y, g/dY,= A10017A2:,0
dY; ¢dY,=0,42 Y,=18, dY=0,09

AY/AY,

T*,=791, dY,=0,09 dY,/Y,=0,055% ,*
log[(dY)(dY),]=0, m,=0.75

Anwendungs-
bereich

1Y,=18

log [AYY) I (AYIY),]

Yn=3.6  Yyw=90

LABJNDu9 relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T*Laganbuo =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]
(dY/Yhg/(dY/Y3=0,77, Ay=1,500, ¢=0,

42
(YY) g/(dY/YS=" 00, An=0,017, A=0,0024
(dwvid(dv/v =2, " Y. 218 dY0.09

N

——

log[(dY/YY(dY/Y),]=0, mu——O 26

T#,=791, dY,=0,09 dY,/Y,=0005¢,  AIwendungs,
1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJNDuO relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =Ly, =100,

T*Laganbuo =[IN[A 1n+A2nY)V/(A 20A0n)] (Yn/100<Y<=Y,c)

(VY Y(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,28, Ay=1,500, ¢=0,42
(YIdY)g/(Y/dY)=L.00, An=0.017, /,=0,0024
(Y/dY%vd(Y/dY =0,47 Y, 218, dY=0,09

T* =791, dY,=0,09 Y,/dY, 7
- 1 Anwendungs-|
2 1 bereich
1y,=18

YN=3.6  Yw=90




